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1. If fand g are the functions which are shown in Figure 1. s
Evaluate f(2)+g(5)=? (A)6 (B) 2 (C) 0 (D) -2 (E) - 6 NN
2. (8LA) let u(x) = g(x)/f(x) > find u(1)'=? (A) 1 (B) -1 (C) 0 (D)—% (E)—i— /f ~F
3. (8 £48) let u(x) = f()g(x) » find u(1)'=? (A) 4 (B)2 (C) 0 (D) -2 (E)— 4 D e
4. (% L8) At what value of x does f(x) have a local maximum value ? —~L I/ N\NLA X
(A)x = —2B)x=0(C)x=1(D)x =2 (E) x=7 o 1 | X
5. (% LA%) Evaluate | ,80% =7 (A) 3 (B) 17 (C)4 (D)—4 (B) 11 Flgure I
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: = f{x)
The graph of a function f is shown in Figure 3. 1 2,1 p AR

17. limy_,g+ f(x) does not exist 19, limy_,,+ f(x) does not exist f A ® /\ /\

18. limy.,, f(x) = g 20. £(2) =3 v \/\/ \/ \/ x
= HETHASRMERLACARBER) © (Bm205) —1 -4

6. (% %) Evaluate J.:[f(X)—g(X)]dx=?(A) 13§ (B) 3§ ©)-3 (D)—=63 (E) 82

7. The graph of the derivative of a function f is shown in the Figure 2. At what values of x does f may have a
local minimum or maximum value? (A)3 (B)5 (C)7 (D)—2 (E)—1

8. (4 LA&)At what values of x does f have a local minimum value? y=f'
(A)0and 7 (B)2 and 5 (C)—2and 4 (D) 1 and 3 (E)—1 and 5 K\
9. If y = 2n%,findy’ =7 (A) 4 (B) 0 (C) 4n (D) 21 (E) 22 .

10. If £(x) = e then f'(x) =? -1 0\\1/2 3 b
(A) eSinX (B) e-—SinX (C) eCosx~1 (D) —sinx eC0osx-1 (E) — sinx eCOsX :
11 Ify=x" + 3, find 2 =7

- 1 98
(A) 99x%8 + 53em (B) —99x%8 —
12. If f(x) = tan(sin x), then f'(x)=?

(A)secxtanx cosx (B) tan’(sin x) cos x  (C) tan(sin x) sin(cos x) (D) secz(sin X) cos x (E) sec(tan(cos x))
3. If F() = V53 + 3x + 2, find F(2)' =7 (A)22 (B) 12 (©) = (D) % (B) = (16)%
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(C) 99x100 4 99 57= (D)

16

14. IfF(x) = In [x* +3x + 2|, find F(2)' =7 (A3 B) 2L ()= (D) 151n 16 (E) 22

15. Convert the integral f_33 Jy % cin (x* + y¥)dydx to polar coordinates. (A) fon f_33 rsinr?drd6
(B)foTT f03 r2sinr?drd® (C)fo2Tt f03 rsinr?drd® (D) foﬂ _f03 rsinr?drd# (E)foTT fol 3rsinr?drd6

16.Letu=x— 1 and suppose flz Vx —1dx = ff\/ﬂ du Choose the true statment.
(A)a=0,b=2(B)a='—l,b=O(C)a=2,b=3 (D)a=2,b=4(E)a=0,b=l
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1. f t% cos3rdt =2 Figure 3

dx=7?
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. Find the derivative of the function : @y = (b) y = sin? (Inx?)
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